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run_13065019 FGT_RMS 1, Timebin=2,Disc=2,asmb=2DA
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run_13065019 FGT MPV_1,Timebin=2,Disc=2,asmb=2AB
Mon Mar 5 08:16:36 2012
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run_13065019 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
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run_13065019 FGT_ ADC_1,Timebin=2,Disc=2,asmb=2AB
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run_13065019 FGT MPV_1,Timebin=2,Disc=2,asmb=2AB
Mon Mar 5 08:16:37 2012
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run_13065019 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
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run_13065019 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Mon Mar 5 08:16:38 2012
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run_13065019 FGT_RMS 1, Timebin=2,Disc=3,asmb=3DA
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run_13065019 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Mon Mar 5 08:16:40 2012
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run_13065019 FGT_RMS 1, Timebin=2,Disc=3,asmb=3DA
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run_13065019 FGT ADC _1,Timebin=2,Disc=3,asmb=3AB
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run_13065019 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3AB
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run_13065019 FGT _RMS 1, Timebin=2,Disc=3,asmb=3AB
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run_13065019 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
Mon Mar 5 08:17:20 2012
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Mon Mar 5 08:15:16 2012

ADC for FGT RDO=1,ARM=4,APV=12

1000 2000

3000 4000
raw ADC

ADC for FGT RDO=1,ARM=4,APV=13

3

ADOpsg

0 1000 2000

3000 4000
raw ADC

ADC for FGT RDO=1,ARM=4,APV=14
—

0 1000 2000

3000 4000
raw ADC

[ ADC for FGT RDO=1,ARM=4,APV=15

3000 4000
raw ADC

0 1000

3000 4000
raw ADC

[[ADC for FGT RDO=1,ARM=4,APV=12_}

= 4000 p—
] =
& =

Q 3500 f=——
< =

3000 f=—
=

2500 f=—
=

2000 f=——
=

1500 f=——

1000 f=——
=
=

500 p=—
=
=

0 =

= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=4,APV=13 "}

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=4,APV=14 "}

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
==
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=4,APV=15_}
- 4000 p—
5] = . . .
oo =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
b=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=4,APV=16 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

.0 ... J Eo.a Eo.d oA

107

10°

10

10

10




run_13065019 FGT_ MPV_1,Timebin=2,Disc=5,asmb=5AB
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run_13065019 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Mon Mar 5 08:17:20 2012
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run_13065019 FGT_ ADC_1,Timebin=2,Disc=5,asmb=5AB
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run_13065019 FGT_ MPV_1,Timebin=2,Disc=5,asmb=5AB
Mon Mar 5 08:16:47 2012
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run_13065019 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
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run_13065019 FGT_ADC 1,Timebin=2,Disc=1,asmb=1BC
Mon Mar 5 08:15:25 2012
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run_13065019 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Mon Mar 5 08:16:49 2012
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run_13065019 FGT RMS 1,Timebin=2,Disc=1,asmb=1BC
Mon Mar 5 08:17:23 2012
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run_13065019 FGT_ADC 1,Timebin=2,Disc=1,asmb=1BC

Mon Mar 5 08:15:29 2012
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run_13065019 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Mon Mar 5 08:16:50 2012
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run_13065019 FGT RMS 1,Timebin=2,Disc=1,asmb=1BC
Mon Mar 5 08:17:24 2012

[CADC RMS for RDO=2,ARM=0,APV=5__}

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=2,ARM=0,APV=6 }

RMS (ADC-ped)

1
120

APV channel

RMS (ADC-ped)

120 |r
100 |-
80
60 |+
wf

20 [

i
120

APV channel

RMS (ADC-ped)

i i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=9 "}

RMS (ADC-ped)

APV channel




run_13065019 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD
Mon Mar 5 08:15:33 2012
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run_13065019 FGT _RMS 1,Timebin=2,Disc=1,asmb=1CD
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run_13065019 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD
Mon Mar 5 08:15:37 2012
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run_13065019 FGT _RMS 1,Timebin=2,Disc=1,asmb=1CD
Mon Mar 5 08:17:26 2012
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run_13065019 FGT _RMS 1,Timebin=2,Disc=2,asmb=2BC
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run_13065019 FGT_ADC 1,Timebin=2,Disc=2,asmb=2BC

Mon Mar 5 08:15:43 2012

[ADC for FGT RDO=2,ARM=1,APV=5 }

2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=1,APV=6 }

0 1000

2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=1APV=7 }

20°
(&

ADC.

2000 3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=1,APV=8 }

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=1,APV=9 l

ADC-ped

.
15}

0 1000

2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=1,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=2,ARM=1,APV=6 }

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0f=—
E_. . . I . . . I . . . i . . . I . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=1,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
= I I i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=2,ARM=1,APV=8 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
o=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=1,APV=9 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

... E.d e e N3

10

10

10°

10

10




run_13065019 FGT_MPV_1,Timebin=2,Disc=2,asmb=2BC
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run_13065019 FGT_ADC 1,Timebin=2,Disc=2,asmb=2CD
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run_13065019 FGT RMS 1,Timebin=2,Disc=2,asmb=2CD
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run_13065019 FGT_ADC 1,Timebin=2,Disc=2,asmb=2CD
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run_13065019 FGT MPV_1,Timebin=2,Disc=2,asmb=2CD
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run_13065019 FGT RMS 1,Timebin=2,Disc=2,asmb=2CD
Mon Mar 5 08:17:30 2012

[ADC RMS for RDO=2,ARM=LAPV=17 _}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=1,APV=18 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=19 |

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=21 "}

RMS (ADC-ped)

1

0.8

APV channel
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run_13065019 FGT _RMS 1,Timebin=2,Disc=3,asmb=3BC
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run_13065019 FGT MPV_1,Timebin=2,Disc=3,asmb=3CD
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run_13065019 FGT _RMS 1, Timebin=2,Disc=3,asmb=3CD
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[ADC RMS for RDO=2,ARM=2,APV=12__}

R REEEEEEEEEEREE paeacasaenceacasasacand frapaaaaaraaaaaraaaaanad PERERLEEREREEPEIT o LEs racacacacaeasaaaaaraaad facnaaaaapacasasasasand Pacacacs

40 f——v----rseieeeeees e LR TR v

RMS (ADC-ped)

30 e R R EEREE R ARRREEREEEEEEEEREEEEEE e .
20 e T,

10 v L ELEEEEEEEEE] § B

. . . ; ;
20 40 60 80 100 120
APV channel

°FT

[ ADC RMS for RDO=2,ARM=2,APV=13 "}

70 f=

60

RMS (ADC-ped)

50 f—
wfE
30
20

10

0

APV channel

[ ADC RMS for RDO=2,ARM=2,APV=14 "}
60

RMS (ADC-ped)

APV channel

[ADC RMS for RDO=2,ARM=2,APV=15__}

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=2,ARM=2,APV=16 }

RMS (ADC-ped)
'|'I'I'H | 1T

i . . . i
100 120
APV channel




run_13065019 FGT_ADC 1,Timebin=2,Disc=3,asmb=3CD
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run_13065019 FGT MPV_1,Timebin=2,Disc=3,asmb=3CD
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run_13065019 FGT _RMS 1, Timebin=2,Disc=3,asmb=3CD
Mon Mar 5 08:17:32 2012
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run_13065019 FGT_ ADC 1,Timebin=2,Disc=4,asmb=4BC
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run_13065019 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
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run_13065019 FGT _RMS 1,Timebin=2,Disc=4,asmb=4BC
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run_13065019 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
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run_13065019 FGT _RMS 1,Timebin=2,Disc=4,asmb=4BC
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run_13065019 FGT_ADC 1,Timebin=2,Disc=4,asmb=4CD
Mon Mar 5 08:16:15 2012
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run_13065019 FGT RMS 1, Timebin=2,Disc=4,asmb=4CD
Mon Mar 5 08:17:36 2012
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run_13065019 FGT_ADC 1,Timebin=2,Disc=4,asmb=4CD
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run_13065019 FGT RMS 1, Timebin=2,Disc=4,asmb=4CD
Mon Mar 5 08:17:36 2012
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run_13065019 FGT_ADC 1,Timebin=2,Disc=5,asmb=5BC
Mon Mar 5 08:16:21 2012
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run_13065019 FGT_RMS 1,Timebin=2,Disc=5,asmb=5BC
Mon Mar 5 08:17:37 2012

[CADC RMS for RDO=2,ARM=4,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=4,APV=1 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=4,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=4,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13065019 FGT_ADC 1,Timebin=2,Disc=5,asmb=5BC

Mon Mar 5 08:16:23 2012
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run_13065019 FGT_MPV_1,Timebin=2,Disc=5,asmb=5BC
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run_13065019 FGT_RMS 1,Timebin=2,Disc=5,asmb=5BC

Mon Mar 5 08:17:37 2012
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run_13065019 FGT_ADC 1,Timebin=2,Disc=5,asmb=5CD
Mon Mar 5 08:16:27 2012
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run_13065019 FGT_ MPV_1,Timebin=2,Disc=5,asmb=5CD

Mon Mar 5 08:17:05 2012
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run_13065019 FGT RMS 1,Timebin=2,Disc=5,asmb=5CD
Mon Mar 5 08:17:38 2012
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